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KANGURU DER MATHEMATIK 2022

Level: Felix, Grades 1 — 2
3 Point Examples/ 3 diém

1. In which box are the most triangles?

Hop nao co nhiéu hinh tam gidac nhat?

(A)!

2. A sandwich and a juice cost 12 Euros together.
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|

e,.nm

(B)!
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! (D)

A sandwich and two juices cost 14 Euros together.

How many Euros does one juice cost?

Mot chiéc banh sandwich va mot chai nuoc tradi cay co gia 12 Euro.

M0t chiéc banh sandwich va hai chai nude trdi cdy c6 gia 14 Euro.

Hoi mot chai nuoc trdi cdy co gia bao nhiéu Euro?

(D) 4

(A)

1

(B) 2

(€) 3

(E) 5

3. Anna cuts the picture of a mushroom in two halves.

She then arranges the two pieces together to form a new picture.

What could this new picture look like?

Anna cat hinh cay nam lam hai nua.

X

Sau do, co ay sap xép hai manh lai voi nhau dé tao thanh mot burc tranh maoi.

Hoi bic tranh méi trong nhw thé nao?

(A)

T

T

(8)

T
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(€)
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(D)

=
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4. In the four squares of a row there always have to be exactly two coin

S.

In the four squares below each other there also always have to be exactly two coins.

On which square does one more coin have to be placed?

O

O

Trong bon 6 vuong cua mot hang luén phai co dung hai dong xu.

O

O|w

C
D
O

O

Trong bon 6 vuéng bén dwéi nhau, luén phdi cé ding hai dong xu. A

Phdi ddt thém mét dong xu vao hinh vuéng nao? O

(A) square A (B) square B (C) square C b

(D) square D (E) square E

5. A monkey has torn off a piece of Captain Jack‘s map.

Mot con khi d xé mot manh ban do cia thuyén trudng Jack.

What does the piece the monkey has torn off look like?

Manh md con khi da xé ra trong nhu thé nao? @ \§§,
i3 AA A

6. The picture shows one object made up of 5 identical building blocks.

How many building blocks touch exactly 3 others?

Birc tranh vé mdt do vit dwoc tao thanh tir 5 khéi hinh gidng hét nhau.
C6 bao nhiéu khoi hinh cham vao diing 3 khoi khdc?

(A)1 (B) 2 (O) (D) 4 (E)5
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7. Peter puts the 4 puzzle pieces shown together to make a square. Which picture

can he make? 7
Peter ghép 4 manh ghép lai véi nhau dé tao thanh .‘ “

m¢t hinh vuéng. Anh dy c6 thé vé birc tranh nao?

(A) u (B) .I (©) D
(D) n (E) n

8. Some ink spilled on a piece of squared paper, as shown in

the picture. How many of the squares have ink on them?

Mgt it muc dé ra mét manh gidy hinh vuéng, nhw trong hinh.

Hoi ¢ bao nhiéu hinh vudng ¢6 muec trén do?
(A) 16 (B) 17 (C)18 (D) 19 (E) 20

4 Point Examples/ 4 diém

9. These five animals are made up from different shapes.

There is one shape which is only used on one animal.

On which animal is this shape used?

5 con vt dudi ddy dwoc tao tir nhitng miéng ghép cé hinh dang khdc nhau.
Co mot hinh dang chi dwoc su dung trén mot con vat

Do la con vat nao?

(A)g (B]E(C) ! (D) ; (E) h l
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10. There is an animal asleep in each of the five baskets.

The koala and the fox sleep in baskets with the same pattern and the same shape.
The kangaroo and the rabbit sleep in baskets with the same pattern.

Co6 mot con vdt dang ngu trong mot trong nam gio.

Gdu i va cdo ngii trong nhitng chiéc gié ¢é hoa van va hinh dang giong nhau.
Con kangaroo va thé ngii trong nhitng chiéc gié ¢é hoa van giong nhau.
In which basket does the mouse sleep?

Con chuot ngu trong gio nao? W W =

( A) B a.Sket l (B) B aSket 2 Basket 1 Basket 2 akt 3 Basket 4 Basket 5

(C) Basket 3 (D) Basket 4 (E) Basket 5

11. The kangaroo wants to visit the koala.
On its way it is not allowed to jump through a square with water.

Each arrow shows one jump on to a neighbouring field.

Which path is the kangaroo allowed to take?

Con kangaroo muon dén tham gdu tui.

Trén duong di, no khong dwoc phép nhay qua mot 6

vuong co nuoc.

M6i miii tén hién thi mot lan nhay sang truong lan cdn.

Kangaroo dwoc phép di theo con duwong nao?

(A) L9ttt 999998 (B) WS>t tddddd ¢ ¥
© S99t 199t 1t D) U9ttt tee el
E) STt 19919598

4
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12. Carl writes down a five-digit number.
He then places a shape on each of the five digits (see picture).
He places different shapes on different digits.
He places the same shape on the same digits.
Which number did Carl hide? ' ‘ ’ * ‘
Carl viét ra mét s6 cé nam chi sé.
Sau d6, anh dy dat mét hinh dang trén méi nam chi sé (xem hinh).
Anh dy ddt cdc hinh dang khéc nhau trén cac chiv s6 khdc nhau.
Anh ta ddt hinh dang giong nhau trén cdc chir sé giong nhau.
Carl da gidu sé nao?
(A) 34426  (B)34526  (C) 34423
(D) 34424  (E) 32446

13. Which option shows the view from above this stack of discs?

Nhin ter trén Xudng duwdi chong dia tréng nhuw thé nao?

B)
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14. Which of the following pictures will we see when we use the stamp
shown?
Chiing ta sé nhin thdy hinh anh ndo sau ddy khi sir dung con dau dwoc hién thi?

y .
s
N N s I <
5 5%

D) (E)

15. Katrin forms a path around each square. For that she uses stones like I
this 2
Katrin tao thanh mot con dwong xung quanh moi é vudng. Vi diéu d6 ¢é dy sir dung
nhitng vién da VAalt nhuir thé nay

How many 2 such stones does she need for a path around the square
with side length 5?

C6 ay can bao nhiéu vién da nhw vay dé di mot

con dwong quanh hinh vuéng cé canh dai bang

N
(A)10  (B)11 ()12 3 5

[H

(D) 14 (E) 16
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16. Each year, Maria received teddy bears for her birthday. For her first birthday she
received 1 teddy bear. For her second birthday she received 2 teddy bears. For each
subsequent birthday she received one teddy bear more than the previous year. How
many teddy bears does Maria have in total when she is 6 years old?

Vao méi dip sinh nhdt, Maria nhdn dwoc sé gdu bdng bang sé tuéi cia cd dy vao
ngay dé. Vao sinh nhdt dau tién cia minh, ¢d dy da nhdn dwoc 1 con gau bong.
Va0 sinh nhdt th hai ciia minh. Mdéi lan sinh nhdt tiép theo, ¢6 dy nhdn diroc nhiéu
hon mét con gdu bong so Véi ndm trudc. Héi Maria c6 téng céng bao nhiéu con gau
bong khi co dy 6 tusi?

(A) 19 (B) 20 (C) 21 (D) 22 (E) 23

5 Point Examples/ § diém

17. Below you see five pieces of lawn.
Which one has the smallest area of grass?
Duéi ddy ban nhin thday ndm mdnh co.

Cai nao co dién tich co nho nhat?

(A]& (B}<_7__/> (C]@ (D]Q . (E)@
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18. The numbers in the five circles around each house add up to 20. Some numbers

are missing.

Cdc so trong nam hinh tron xung quanh moi ngoi nha co tong bang 20. Mot 5o so bi

thiéu 6

Which number does the question mark stand for? 3

Dau cham héi twong trung cho s6 nao? 5 oo oo

(A) 3 B4 (C)7 (D)9 (E)14 — —
D

19. Ann has 4 stickers as shown.

Ann ¢6 4 miéng dan nhie hinh.

OHEH:A

She sticks down the star after she sticks down the square. She sticks down the star
before she sticks down the triangle. Which picture could she end up with?
Cé dy dan ngdi sa0 sau khi c6 dy dan hinh vuéng. Cé dy dan ngdi sao triede khi dan

hinh tam giac. Cudi ciing ¢6 dy c6 birc tranh ndo?

Bl

(A) (B)

- NI
& B
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20. Dino walks from the entrance to the exit.
He is only allowed to go through each room once.
The rooms have numbers (see diagram).
Dino adds up all the numbers of the rooms he walks through.
Dino di tir 16i vao dén 16i ra.
Anh ta chi dwoc phép di qua méi phong mét lan.

Cdc phong déu co so (xem so do).

5

. . . [
Dino cong tat ca so phong ma anh dy di qua. ﬂ — 1
What is the biggest result he can get this way? r

[S]
(¥4
I

Két qua 1om nhdt ma anh ta c6 thé dat dwoc theo cach nay la gi?

(A) 27 (B) 29 (C) 32 (D) 34 (E) 36

21. In the picture, each shape stands for a different number. Which number should
be written in place of the question mark?

Trong hinh, moi hinh twong trung cho mot con so khdac nhau. Hoi nén viét s6 nao

vao vi tri dau cham héi? + »
(A) 10 (B) 12 (C) 14 (D) 16 (E) 18 B E B 18
t A N B
A ® A 10
14 ?
9
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22. The three zebras Runa, Zara and Biba take part in a competition.
The winner is the zebra with the most stripes.

Runa has 15 stripes.

Zara has 3 stripes more than Runa.

Runa has 5 stripes less than Biba.

How many stripes does the winner have?

Ba chu ngua van Runa, Zara va Biba tham gia mot cugc thi.
Nguoi chién thing la con ngwa van c¢é nhiéu soc nhat.

Runa co 15 soc.

Zara nhiéu hon Runa 3 soc.

Runa it hon Biba 5 soc.

Hoi nguoi chién thing c¢é bao nhiéu soc?

(A)16 (B)18 (C)20 (D)21 (E)22

23. Kangy's car can only turn left. It can never turn right. Which of the following
five routes can Kangy take?
Xe cua Kangy chi cd thé ré trai. N6 khdng bao gio ¢d thé ré phdi. Kangy cé thé di

theo con dwong nao trong nam con dwong sau day?

=

L o

Uy

(B) ©)

i

()]
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24. There are five numbered cards on the table as shown. You may swap two cards
at each step. What is the smallest number of steps needed to put the cards into
increasing order?
C6 nam thé duoc danh so6 trén ban nhue hinh. Ban c0 thé trao doi hai thé ¢ méi buéc.

S6 burdc nhé nhat can thyc hién dé sdp xép cac the theo thit tw tang dan 1a bao

nhiéu?

(A)1 (B)2 (C)3 (D)4 (B)S 3 4 ]_ 5 2
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